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Directions : In each of the following
questions, out of the given alternatives choose
the one which best expresses the meaning of
the given word.

16. AR’I‘IFACT
(A) Synthetic
‘\7(‘5) Man-made
(C) Natural

x(D) Exact copy

11. VESTIGE V?"‘hr? "
(A) Invention
(B) Example
\rm}vidence
(D) Experiment
Directions In each of the following

questions, out of the given alternatives choose
the one which is opposite in meaning to the
.r-""""-—._-_

given word.
1;. COMMEND (ommend:

(A) Suspend
M Admonish
(C) Hate |

(D) Dislike =~

né
13. SERENE Sekt

(A) Jovial
(B) Moving
(C) Agitated~

W Nervous
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Directions Read the following passage
carefully and answer the questions that
follow.

It will be a mistake to think that he was given
only ‘bouquets’, he also received many
‘brickbats’. The Christian missionaries took
alarm at his popularity. They used to raise
funds by preaching that India was a land of
heathens waiting to be saved by Christianity.
The American press now began to say that it
was a shame that anybody should try to teach
India religion, rather the world should sit at
her feet to learn it. Vivekananda also said that
India did not need religion but material
support. The missionaries found that the
subscriptions they had so long been receiving
from the people were steadily declining. They
blamed it on Swamiji. They now started
denigrating him in all manner of ways. They
even began to spread scandals against his
personal character. Strangely enough, even
some of his own countrymen joined them in
this for reasons of their own. But ‘Truth alone
prevails’, as Swamiji always preached. He did
not try to defend himself, but others stood up
for him and vehemently protested. Finally, all
such mean attempts failed and his reputation
only rose higher and higher.

14, The passage teaches us

(A) not to believe in religions other than
our owrn

% not to get involved in scandals
(C) not to visit foreign lands

x(D) not to deviate from the path of truth ™

15. Vl}felfanax?da was criticized by the
missionaries in America because

(A) he was a bad student of Western
theology

) he opposed the
Christianity

tenets of

(C) sl‘:.mericans had become very fond of
im —

(D) be did not allow them to raise funds
in India '

[ P.T.O.



16. Swami Vivekananda told the American
“ people that India

(A) did not the

Church
@)

approve Catholic

would teach religion to those who
sit at her feet

.(C) required religious and material help

(D) was self-sufficient in religion
though poor~—

17. Vivekananda’s rapport with the

-

American people

« (A) helped India get substantial aid

(B) made his friends desert him
(C) annoyed the American Government

(D) caused a drop in Church’s

collections ~—

18. Vivekananda did not defend himself
because

=

he believed in the ultimate triumph
of truth

(B) he was in a foreign land

(C) some of his countrymen were
opposing him

(D) he had brought many friends along
to fight for him :
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Directions : In each of the following questions
(Question Nos. 19 and 20), pick out the ;nno-St
effective word from the given words tc? ill in
the blank to make the sentence meaningfully

complete.

19. A number of advances in medicine

would have been . sooner if free
enquiry had been common and orthodox

thinking habits had been rare.

. (A) persisted
(B) inducted
(C) secured

(D) achieved —

20. The final electoral rolls have been

intensively revised through house to
house

(A) investigation
(B) enunciation
\I(C)/ enumeration

» (D) documentation



21.

22'

23.

24.

25.

26.

27.

28.
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Among the famous personalities of

Haryana, who among the following was
the seniormost?

(A) Sir Sadi Lal

(B) Pt. Nek Ram

(C) Rao Tula Ram
(D) Sir Chhotu Ram

The first Assembly Election in Haryana
was held in the year

(A) 1952 (B) 1960
(C) 1956 (D) 1966

Which among the following is the least
populated district of Haryana?

(A) Rewari (B) Panchkula

(C) Fatehabad (D) Jhajjar

The Indian Institute of Wheat and Barley
Research is located in which district of
Haryana?

(A) Karnal (B) Kaithal

(C) Mahendragarh (D) Yamunanagar

The National Milk Production Research
Institute is situated in the city of

(A) Yamunanagar

(B) Panipat

(C) Faridabad

(D) Karnal

The famous lake situated in Karnal for
tourist attraction is known as

(A) Badakhal lake

(B) Karna lake

(C) Sultanpur lake

(D) Tilyar lake

‘Hriday Haryana’, situated in the middle
of Haryana State, is the city of

(A) Jind

(B) Rohtak

(C) Sonipat

(D) Karnal

The historical grand tomb of Haryana
which has a relationship with Sheikh
Chehli is situated in which place?

(A) Nuh '

(B) Palwal

(C) Kurukshetra

(D) Hansi

21. gamn i Frafafes =@ @ T gaq
> e I 87 L
(A) W HEEE
(B) ufred Jem
(C) Ta g&R™ —
W) worm
22. % gevem faum w1 & e R 9l
ga an?
.(A) 1952 (B) 1960
(C) 1956 (D) 1966 ~~
23. ghaen # Frefafes # @ FA-W =W FH
radl aren foren 87
A) @ WE) g
(C) WAETER (D) F=R
24, Theamn ¥ e R B e g ofR S
e’ e 7 :
pA) FEE (B) e
(C) We=TTe (D) FFTAR
25.uﬁugummaga=mﬁwnmwﬁ
o 27
(A) IETHT
(B) 9HIYd
(C) =R
LAD) FETE
26. FEE 1 B v & T uftg die &1«
| R
(A) FFEA #d
(B) i e 7
(C) GEaAR e
(D) T #ie
o7, g % wa i fRa ‘T shaen wE-A
TR 7
) e
. (B) UEa®
(C) WHIYd
(D) FETA
28. zfamn #1 Vel W= wehaw, e g=y
@ Tec B R, T wem w27
() T ' '
(B) Heidd .
(C) Fwad
- (D) T
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29,

30.

Pandit Mangeram is related with which
mode of cultural activity?

(A) Saang tradition

(B) Education and literature

(C) Horror writings

(D) Appearance

Banabhatta was the friend and State
poet of which among the following
kings?

(A) Prithviraj Chauhan

(B) Harshavardhana

(C) Ananga Pala

(D) Hemachandra

31.

32.

Where is the manufacturing of the iron
pipes mostly done in Haryana?

(A) Sonipat

(B) Faridabad

(C) Gurgaon

(D) Hissar

The famous ‘Yadavendra Garden’ is
- situated in -

(A) Morni (B) Pinjore

(C) Faridabad (D) Karnal

33.

34.

35.

36.
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Hot water reservoir, assistant in skin
disease treatment, is situated in

(A) Sohna

(B) Surajkund

(C) Kurukshetra

(D) Taraori (Tarawari)

Maharaj Agrasen is related with which
city?

(A) Sirsa (B) Pehowa

(C) Rohtak (D) Agroha

When did Haryana receive the full State
status?

(A) 1st November, 1966

(B) 30th January, 1970

(C) 20th June, 1965

(D) 2nd October, 1968

Pt. Jasi'aj is famous for which artistic
achievement?

(A) Classical music

(B) Folk song

(C) Folk dance

(D) Poetry writing

29, Yo TR 1 wEEY e e faun & 27
LeTA) | 9O

B) fuen 3 wife

(C) ifg-crEA

(D) ®9-F=
30. ATz g TN ¥ i 9 Tetla A7

(A) YR SEH

v v

(C) T

(D) &HE=R

.31, ghamn #§ @R F urgl o1 gaites i w5

B 87
(A) €T
. (B) wieEmE
(C) T
(D) feam —
32, gftrg ‘greds M’ e wwE W R '7
\(A) T (B) T~
(C) HEER (D) HETA
33, 9 W =R § WEEF T Gl H FUS
e g7
«(A) ®Em
(B) {EIFTS
(C) FHam
»(D) WS
34. TERST SR F T RE TR d 37
(a) o (B) &
(C) eah D) suia

35. TR F i T4 1 5= Fe et
\AK) 1 99w, 1966
(B) 30 SFail, 1970
(C) 20 <, 1965
(D) 2 3TER, 1968
36. ufted s fora famn & fog fareama €2
MA) I Eia
(B) wraiid
(C) g
(D) A &



37. In fourftain ilrrigation, Haryana stands 37. "iﬁ'l'{'l T -asm qfeg 3}, zhEmn F1 W@
in India. H SH-T1 E 17 '
s = D= o om
38. Which of the fi el (© g - (D) el
" ich of the following districts i t
sy ng districts is not | = 5o frafefy § & P-T foren Wien T &7
(A) Mahendragarh (A) HEETG
(B) Bhiwani B) T
(C) Rewari (C) &
(D) Kurukshetra Vrﬁ] EaliEl
39. HoT.v many Members are sent to the 39, gRAN ¥ TSF 991 3 fFY Te= 99 919 27
Rajya Sabha from Haryana? @) (B) =W
(A) Two (B) Four 7’( o o
(C) Five (D) Seven WC) (D) :
40. During the reign of Harshavardhana, 40. TG % T H TAON H FH-H
which city of Haryana was prosperous? Qv -wr A1
(A) Faridabad (B) Fatehabad (A) e (B) HEETE
(C) Thanesar (D) Panchkula o) ar (D) geEpen
41. Which _factory has been set up in Baholi | 41, griyd % =rreh § @HH-81 HRGAT T 27
?;;)PaFl:l;ftaiL]EZer (B) Slllgar mill A) (B) bl
(C) Cement | (D) Oil purifier (€) WD) e
42. Among the following, which places do 42. ﬁ;::[ 3 i T F *P.ri( T gl gl
not have the metro rail facility? R '
(A) Delhi-Faridabad (a) Fef-waemm
(B) Delhi-Gurgaon : B) fegi-Tena
(C) Delhi-Samaypur Badli (€) Tegh-wigt ameet
(D) Delhi~Jhajjar y(ﬁ) Rz
43. KMP stands for 43. ‘“Fo wHo o’ & rﬁﬁ E
(A) Kurukshetra Manesar Panipat ' (A) @mm A
(B) Kurukshetra Mahendragarh Panipat (B) T 23 e T
(C) Kundli Manesar Palwal (© e =

‘(D) Kundli Manesar Pataudi
44. Which district is irrigated mainly by the

Jui canal? ﬁ.ﬁé%ﬂﬁg@ﬂ:‘ﬁﬁﬂﬁ%ﬁﬁiﬁﬁ?ﬁ%?
(A) Bhiwani (B) Kurukshetra La) e (B) Foam -
" (©) Sirsa (D) Sonipat ©) T (D) Erfia
45, The golf course of Aravali is made in the 45. A F TEE $er Fra B & = 27
district of A) L
— o
C) Bhiwani () foarft
:D)) Faridabad | Mb) wieEr

/03 7 [ P.T.O.




46.

417.

Litmus is obtained from
(A) a bacterium (B) a fungus

(C) an alga (D) lichen

The highest Indian waterfall is
(A) Gokak
(B) Gersoppa

- (C) Shivasamudram

48.

49.

50.

51.

52.

53.
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(D) Yenna

Zinc sulphide is commonly used as

(A) fungicide

(B) herbicide

(C) rodenticide

(D) deodorant

Who was popularly known as ‘Nana
Sahib™

(A) Baji Rao I

(B) Balaji Baji Rao

(C) Balaji Vishwanath

(D) Madhav Rao

The Constituent Assembly of India was
set up on the recommendation of

(A) Cripps Mission

(B] Wavel Plan -

©
(D)
The telephone line is connected through

which of the following to the computer to
use Internet? '

(A) USB (B) Modem
(C) Ethernet (D) Switch

August Offer
Cabinet Mission

Which of the following is an indirect tax?
(A) Capital gains tax

(B) Wealth tax

(C) Service tax

(D) Corporate tax

The Gupta emperor Samudra Gupta
called himself

(A) Lichchhavi-Dauhitra

(B) Kumaradevi-Putra

(C) Devanampiya

(D) Sthaneshwar

48. fi% GeFEe SAHAR T SEWIE foha ST &

. (A) FHEEATEN % €A

(B) RN % ¥4 A =

(C) FRFTMFFIH 7

(D) TG 6 F9 H

T TTeE’ % A @ A A A7

(A) STiTE 9UH
JAB) ST A

(C) et faayg

(D) HIHETE |

50. mﬁaﬁmwmw%&ﬁﬁmﬁmm

Toran T an?
g8A) Torm T

(B) dda wIH

(© AN HTH

(D) fre i —
?@?%?@fm%%ﬂﬁr—rﬁﬁaﬁﬁﬁﬂ%
'm.ﬁmmaﬁtmﬁsﬂ@ma
(A) Fo THo o (B) HieA—

.(C) $uE (D) &

52. ﬁﬁlﬁiﬁﬁﬂﬁ‘@l?ﬁ?—W‘Q%maw%?
Ta) st e R
(B) Hufe &
(C) JME —
. (D) fmr =R
53. TH WHRT % WERIH 4 @2 H FH-H 3wy
Eild
@A) faesd-dfe
(B) FAT-A
< (C) ST
(D) AT



54. Which of the following supports the
particle nature of photons?

(A) Interference
(B) Diffraction
(C) Polarization
(D) Photoelectric effect
55. Who won the men’s singles title of the
2016 Wimbledon Tennis Tournament?
(A) Milos Raonic
(B) Andy Murray
(C) Stan Wawrinka
(D) Roger Federer
56. The government has constituted a
committee to examine the desirability
and feasibility of having a ‘new financial
year’, headed by o
(A) Rajiv Kumar
(B) P. V. Rajaraman
(C) Rajiv Takru
(D) Shankar Acharya
57. Which of the following is a Landlocked
Sea? i
(A) Timor Sea
(B) Arafura Sea
(C) Greenland Sea
(D) Aral Sea
58. Who wrote Akbarnama?
() Akbar
(B) Birbal
(C) Abul Fazl
(D) Bhagavan Das _
59. Siraj-ud-Daulah was defeated by Lord
Clive in the Battle of
(A) Plassey
(B) Buxar
(C) Munger
(D) Bandipur
60. The Constitution of India came into
force on
(A) 26 January, 1950
(B) 26 January, 1952
(C) 15 August, 1948
(D) 26 November, 1949

/03

54. freffaa # & #F-w e i Fo-wFk
T e R7

(A) =l

(B) faadm

(C) Yt
(D), werrafergd W

55. fraaed 3@ @H=—2016 % TEdl 1 WA
Tegamer o Sfran?

(a) i venfis
3B) R
(C) A FEfH
(D) U W
56. TR I T T e Fd’ #R R W
sl syl StE PR % g A
a1 3, Fes @ @
(A) Ted FAR
. (B) dio fte TS

(D) WEE <™ :
50. wfe FaEa TN RAeIIgEen il - T °l
(A) @ HggH
. (B) "#R F IGH
(€) FRFIEH
(D) TR % g A
60. ST faum @1 @ foa T
" p1A) 26 SHEL, 1950 ®
~ (B) 26 SFall, 1952
(C) 15 2T, 1948 ®
(D) 26 TR, 1949 F
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61.

62.

Which of the following branches of
science deals with life in other planets
and space?

(A) Space biology

(B) Alien biology

(C) Exobiology

(D) Extraterrestrial biology

Which of the following international
organizations is the product of the

- Bretton Woods Conference?

63.

' 64.

65.

66.

67.

/03

(A) WTO
(C) ADB

(B) IMF
(D) UNICEF
Which famous company of Pinjore has

been closed down by the Haryana
Government?

(A) HCL
(B) HMT
(C) HSR
(D) BSNL
India launched ‘Operation Sankat
Mochan’ recently to evacuate Indian

citizens standed in which of the
following countries?

(A)
(B)
(©)
(D)
The shifting of a computer program from
one memory location to another is called
(A)
(B)
(©)
(D)
Who was the first Muslim President of
Indian National Congress?

(A) Muhammad Ali Jinnah

(B) Muhammad Igbal

(C) Khan Abdul Ghaffar Khan

(D) Badruddin Taiyabji

In which Part of the Indian Constitution,
the fundamental duties are enshrined?
A) IV (B) IVA

C) Vv (D) VB

Nigeria

Libya

Syria

South Sudan

data mining
reloading

data collection
relocation

10

61. fge f frg wr@ ¥ awid 9 W& W
st # e @1 oA fFn S 87
Ph) saRe sa-fm
(B) UferaA Sfa-faam
() wE Sa-fagm ~~
(D) wRAfREE Sfa-fagm

62. Freffaq g dmel § & HH-8 Fe
IS8 HIShE H1 IE 87
(A) &0 Fo Ao (B) 230 THo THo—
*(C) Te o o (D) FHE®

63. e TR TR TR i e e S
1 ag T e
(A) T=o Hlo Telo
LAB) THo TWo Jo
(C) THo THo Mo
(D) #flo THo THo Tgio

64. Trefefag & ¥ fFg 30 & R SR iRl
H TEE @ I ® U Ee @ F wRa A
‘ST g HeA 9y
(A) TSt
(B) fifern
-(C) ¥ifem
(D) f&or geM —

65. FEX WU H Th U0 AyE ¥ g A
ARG F & iR FEerd &
(A) = AT
(B) Tt
(C) = FwH
wD) TeiheH

66. I TEA S TH gEm e
FA o1?
(A) gEwre areh fmn
(B) HEWTE THATH
. (C) WA TG THRR @H
(D) wEEER Fesh

67. VI WiaYA & frm s § v wd=’ =
yfemriia R w7
(A) IV
(C) V

B) IVA
(D) VB



68. Who is the brand ambassador for Beti
Bachao Beti Padhao campaign i
Haryana?

mn

(A) Priyanka Chopra
(B) Deepika Padukon
(C) Parineeti Chopra
(D) Imran Khan
69. Fog is an example of
(A) gas dispersed in gas
(B) liquid dispersed in gas
(C) solid dispersed in gas
(D) solid dispersed in liquid

70. Jaundice is caused due to the infection
of _
(A) ~ brain (B) liver
(C) kidney (D) spleen

71. Visveswarayya Iron and Steel Co. Ltd. is
located at
(A) Bengaluru

(C) Mangalore

(B) Bhadrawati
(D) Mysore
72. Vijay Stambha at Chittor was built by-
(A) Maharana Pratap :
(B) Rana Sangram Singh
(C) Rana Kumbha
(D) Rana Ratan Singh

73. Anga, Chedi, Kosala, Asmaka. All of
these are

(A)
(B)
(©)
(D)

viruses
diseases
mahajanapadas
dynasties

74. Pulsars are

(A) stars moving towards the earth
(B) stars moving away from the earth
(©)
(D)
Rashtrapati Bhawan was designed by
(A) Edward Stone

(B) Le Corbusier

(C) Edwin Lutyens

(D) Tarun Dutt

rapidly spinning stars
high temperature stars

75.

/03

i1

68. Bhamn & 3 T=eh, ¥ wgeh AhEE w58
TR B B
INIREREZRCIRE]

(B) diftreR digeRvl
WAC) TR =gt
(D) THCH @H
69. FIgU Th JET &
() ra # uffew |
y/(B) Tru ¥ uftfem 5o
() & & affEm 3@
(D) ¥a ¥ uitiEw 3

70. fEq FFes THA0 H HRO Sl 87
(A) Hf&Eh B) FR /
© ™ (D) wefreT

1. R s e Wiet o o safem
.(A) Sege # (B) wEEd F
© #mER# - (D) FEA

72, Tadire = fasg v s=amE T 9O
. (A) WEROT Y& g
(B) Ton ™ & g/
(C) oM F#I g —
(D) Tom WA Toe g

73. 3, I, FEd, 3| A vl E

(a) ey (B) <t
(C) WEeAY ~ . (D) =W
74. ‘Ta@t §

(A) get SR TEd gL AR

(B) Yol & A gL
Jt€) T A T gL AR

(D) == AIUHM 91 TR
75. Tl We &1 oA s=mn o
A R

(B) < =R 3

(€) wEhmgdal”

(D) T < A

[ P.T.O.



. 7= LA gt A T
16> J@ o

q
7
76. Which of the following is true for 76. 06+ 6+ 8+2 % foru et # & FA-A Te 21
6% 6% 8*27 (A) +, = X (B) % = *
A +, =, % B) %, = + _ C) = + X (D) = % =
C) = + X (D) = x, + 717. Jlﬁl_x?'_g %1 AF 8
[121x09 | 1AL
77. The value of m is ) (A) 2 = (B) 3
A 2 - WBf 3 : (C) 9 (D) 11
(€ 9 D) 11 : 7&ﬁm@m¢ﬁm%ﬁwmmm5%%y
2 g
L 78. Three-fifth of the square of a certain : H= S
3 2 X =1 ?
-;;x‘}‘-'lr 15 number is 126-15. What is the number? R (B) 7569 2 foo ’3"
o m 14s . (B) 7569 ) 1as o orpas AFANEES
C) 145 (D) 210-25 (&) 18 ( Lﬁ - &
_ - R
79. By what least number, 675 be 9. ﬁ&l Sl .ﬁ 6%%? T"_S s
multiplied to obtain a number which is a . S O Tﬁ oA i FyiEsS
perfect cube? (A) 5 (B) 6 Y |
L) 5 * s (B) 6 (C) 7 (D) 8 7
3
@7 (D) 8 ~ 80. ¥21+/16+ 38 H AH & _
80. The value of ¥21+/16+58 is (A) 8 (B) S e
A) 8 : (B) 5 ' C) 4 (D) 3
c 4 LD) 3 81.22x32x55,  23x32x52x72 3R
81. The HCF - of 22X32X55, I 24X34X5X72X11 <l HedH Wﬁﬁ?ﬁ
23%32%52x72 and 24 x3*x5x7%x11 (HCF) &
is | C(A) 22x32x5x7x11
(A) 22x32x5x7x11 B) 2%x3%x55
B) 2*x3%x5° ©) 2%x3*x55x7x11
(€) 24x3%x5°x7x11 (D) 22x32x5
WD) 22x3%x5 ' 82. 98 =Fad e, TR 20, 25, 35 3K 40 F
The least number, which when divided P 1 W OEEN: 14, 19, 29 3R 34 9
~ by 20, 25, 35 and 40 leaves the EEGIR A -
remainder 14, 19, 29 and 34 (A) 1664 (B) 1406
respectively, is - (C) 1404 (D) 1394
(A) 1664 B) 1406 2
(C) 1404 (D) 1394+ - : 33.(—-1—] ¥ SO
) | 343
1 Y73, . : 1 . 1
. 1t A) - B’ =
83'( 343} S P T ®) 2o
(A) "Z% (B) i% (C) -49 (D) 49
©) -49 B) 49 84. fm ? V2=1.414, 71
_ ' (8 +2V32 - 3/128 +4/50)
84. Given +v2=1.414, then the value of
(B +2v32 - 3/128 +4+/50) is 1 A
rB) 8484 (B) 8526 (A) 8484 (B) 8526
(C) 8426 (D) 8876 (C) 8426 (D) 8-876
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wh. ' Il
32018? of the two is greater, 2300 or
(A) 32007 A~TB) 2300
(C) Both are equal
(D) Cannot say

g5, 2300 3i 3200 3 § - e ¥7
(A) 3200 (B) 2300
(C) <l §AH &
(D) @ TE S Fhll A,ﬁ,faﬁ
86. If A=5+2V6, then the value of VA+—— | 86. & A=5+2V6, T VA RIEOT L Bk
e value of VA + =020, +\/7§ %nﬁ?rifﬁ(

is va
L&) 23 B) V3
©) 2 (D) 7

87. The difference between the largest

4-digit number and the smallest 3-digit
number is '

W&) 9899 (B) 8999
(C) 9989 (D) 9889
88. A father is three times as old as his son.
Five years later, he will be two and a half
times as old as his son. Then the
present ages of father and son are
(A) 42 years and 14 years
(B) 48 years and 16 years
(C) 57 years and 19 years
D) 45 years and 15 years
89. When 60 is subtracted from 60% of a
number, the resultant is 60. Then the
number is
LAA) 200. . (B) 140
(C) 170 (D) 300
90. The denominator of a fraction is 1 more
than twice the numerator. If the sum of

fraction and its reciprocal is 2%%, the

fraction is

5 3
(A) B J'fB)/',}l‘
"
(C) 17 (D) o

he value of a machine depreciates at

the rate of 10% per annum. If its present

value is € 1,00,000, what will be its

value after 3 years?

() ¥ 80,000 (B) ¥62,900

©e) €72,900 (D) €81,000 ~

92. The present ratio of ages of A and B

is 4:5. 18 years ago, this ratio was

11 : 16. Find the sum of their present

ages. '

L4%] 90 years

(C) 110 years

(B) 105 years
(D) 80 years
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‘(A) "2J§

(C) V2 D) 7
87. 4- iy WA T 3R 3-3h <A WEA

1 A

(A) 9899 (B) 8999

(C) 9989 (D) 9889
sa.qmﬁmaﬁgﬁﬁ?ﬁqﬂma@%mﬁlm

o e AW A @ T as @ s f

T T ) FEEH A R

(a) 42 = 3 14 74

B) 48 =¥ 3R 16 =

(C) 57 =d 3w 19 =d

(D) 45 =d 3w 15 =
80, aft e FEm F 60% § ¥ 60 TR W.60

o1 Bl &, A a8 T

(A) 200 (B) 140
- (© 170 (D) 300
90.%@%%@@%3{%3@%13%%1
ﬁﬁﬁﬁ@mwmﬁﬂz%’-%,ﬁraﬁ
T -

(A) (B)

o il

(€ (D)

17

o= W

o1. freh wefiA i Fma 10% A« wfa ad =4

i 21 7R I9h =8 FHa € 1,00,000 B,

4t 3 94 4 Igh fima frah arft?
(A) ‘¥ 80,000 (B) ¥62,900
(C) ¥72,900 (D) ¥81,000

92. A ¥ B #l A Y 1 (YW 4: 5 R
18 @ UEA T® U@ 11:16 uWI| IR

qAH 3T N A Feret|
(A) 90 = (B) 105 ad
(C) 110 =9 (D) 80 a¥

[ P.T.O.

B) V3 g7




93. Find the average of the numbers
23, 51 31 gl
4 3 6 2

3 3
A 5~1~§ qa) BE
(C) 165 (D) 3—3_

94. The ratio between the selling price and
the cost price of an article is 7 : 5. What
is the ratio between the profit and the
cost price of that article?

S 2:5
B) T:2
(C) 2:7
(D) None of the above

95. The simple interest on 7,380 from
11 May, 1987 to 11 September, 1987 at
5% per annum is
?123 (B) €103
(€) ¥200 (D) ¥223
96. The present worth of ¥169 due in
2 years at 4% per annum compound
interest is ; :
_(A) ¥150-50 (B) ¥154-75
) F156-25 (D) ¥158
- 97. A man can do a piece of work in 5 days
but with the help of his son, he can do it
in 3 days. In what time can the son do it

alone?

(A) 6% days (B) 8 days
1

(C) 7 days -t’rgl 75 days

A man covers half of his journey at
6 km/h and the remaining half at
3 km/h. His average speed is
L&) 45 km/h (B) 3 km/h
(C) 4 km/h ~— (D) 9 km/h
99. If three sides of a triangle are 6 cm, 8 cm
and 10 cm, then the altitude of the
triangle using the largest side as base

will be
(A) 8 cm (B) 6 cm
1) 48 cm (D) 44 cm

100. A wheel makes 10000 revolutions in
covering a distance of 88 km. The
diameter of the wheel is
(A) 14 m (B) 24 m

2:8 m (D) 22 m
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= 7 I | o foreeTed |
93.3@1&?&249, 5%,4 BEW‘“'"*‘“‘

'6!
3
3 _ 2
o ® 5 (B) 37g
S 3.1_9
(©) 163 (D) 53

-\%m%ﬁm@ﬁmmﬁm

W?:S%l?ﬂa@%ﬁwﬂmm
e 1 STA TRl R
(A) 2:5
B) 7:2
€ 2:7
(D) 37w ¥ 8 g Tl
5. '5% Tifi® = X § 7,380 H HE
= 11 @8, 1987 & 11 Toawr, 1987 *

e ferem |m?
(A) ¥123 (B) ¥103
(C) ¥200 (D) ¥223

96. 4% afis whafe = A R A 2 T4 TR
s €169 | Td9H e -
(A) €150:50 (B) €154-75 |
(©) ¥156:25 (D) ¥158

97. T =Afs TFdl % @1 5 Al § g R FFA e
AfF 98 T @ H TEEa | 39 FE Bl
3 Al # QU R uEa B 3@ FE H IEH

HEH bl fohad WHA W QU M7
(A) G%ﬁn B) 8 fA
© 7 A (D) 7%%4

98. T EH AT AF F [ T 6 km/h
qn @yt & 3 km/h 6 Tfd | T = )
3t 3frga fd ®

+(A) 45 km/h (B) 3 km/h
(C) 4 km/h (D) 9 km/h

99, 7f2 frel frgs it Y9 6 cm, 8 cm 3R
10 cm #, Q1 Gl TSl S N UR o |

e 4 3= gl

(A) 8 cm (B) 6 cm

(C) 48 cm (D) 44 cm
100. T ufen 88 km H 7 @@ w0 K 10000

R T R | AT AW

(A) 14 m (B) 24 m

(C) 28 m (D) 22 m
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